architekturwerkag.ch

t.-haus

bf:21.14 m?
rh: 261 m

w: beton sicht, hydrophobiert
d: beton sicht, hydrophobiert

eingang ko|es|wo
bf:16.64 m? bf:34.67 m?
rh: 259 m 2.59m

+1.55| +155
[ h1101 25 [ h1102 25
b: parkett b: parkett

w: abrieb gstr.
d: brettschichtholz

loggia
bf:18.45 m?
rh: 253 m

w: abrieb gstr.
d: brettschichtholz

reduit
bf:7.08 m?

:2.59 m
+155 +1
‘ h1.103 [7555 ms+1su‘ hl.104 =7

b: fsz-platten
W: miner. verputz gstr.
d: brettschichtholz

b: fsz-platten
w abrieb gstr.
d: brettschichtholz

du|we zimmer
bf:6.61 m? bf:19.40 m?
rh:2.43 m rh: 259 m

+1.55| +1.55
[ h1105 [ [ h1108 [
b: fsz-platten b parkett

w: abrieb | platten
d: hergh. weissputz gestr.

w: abrieb gstr.
d: brettschichtholz

eingang ko|es|wo
bf:9.28 m* bf:32.49 m?
rh:2.63 m 2.63m

+1.55| +1.55
[ h1107 [ [ h1108 25
b: parkett b: parkett

w; abrieb gstr.
d: brettschichtholz

loggia
bf:13.63 m?
rh: 257 m

w: abrieb gstr.
d: brettschichtholz

du|we
bf:6.44 m?

rh:2.43 m
+1.55 +1.55
h1.109 +1.38 bis +1.32 ‘ hl.110 +1.42

b fsz-platten
W: miner. verputz gstr.
d: brettschichtholz

b: fsz-platten
w abrieb | platten
d: hergh. weissputz gestr.

zimmer eingang
bf:19.60 m? bf:13.03 m?
rh: 263 m rh: 263 m
+1.55 +1.55]
hii 5 [ hde 55
b: parkett b: parkett

w abrieb gstr.
d: brettschichtholz

w: abrieb gstr.
d: brettschichtholz

ko |es|wo loggia
bf:36.09 m? bf:13.46 m?
rh: 263 m rh: 257 m
+1.55] +1.55
‘ h1.113 +1.42] h1.114 +1.38 bis +1.32)
b: parkett b:

w: abrieb gstr.
d: brettschichtholz

d: brettschichtholz

du|we reduit
bf:6.44 m? bf:5.75 m?
rh:2.43 m rh:2.63 m
+1.55 +1.55|
h1.115 53 h1.116 773

b: fsz-platten
w: abrieb | platten
d: hergh. weissputz gestr.

b: fsz-platten
w: abrieb gstr.
d: brettschichtholz

zimmer 2 zimmer 1
bf:15.03 m? bf:15.03 m?
rh: 263 m rh: 263 m

+1.55 +1.55
[ h1a17 25 h1.118 [
b: parkett b: parkett
w: abrieb gstr. w: abrieb gstr.

d: brettschichtholz

d: brettschichtholz
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wohnflache: 84.5 m?

loggia: 18.5 m?

1103

wohnflache: 91.5 m?
loggia: 13.5 m?
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wohnflache: 68.0 m?

loggia: 13.5 m?
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